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Solving Quadratic Equations with Square Roots Date Perivd____

Solve cach equation by taking square roots.
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Algebra ll Name

Factoring: General Trinomials when a#1 Period Date

To factor a trinomial like a-x2+ b-x+ ¢ In general, think of FOIL in reverse or consider an area model. If there
is no common factor, this must be the product of two binomials, so it must be in the form (__.x +__)
(__x +__). Three conditions must be met.

The product of the numbers in the first blanks in each binomial is a.

The product of the numbers in the last blanks in each binomial is C.

The sum of the outside product and the inside product is b.

~
Option 1: Guess and Check: Consider the polynomial: 3x%+ 11x+10 _ j
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Option 3: Slip and Divide:

Solve these by Factoring each of the following polynomials.
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4) 2%+ 7x - 4=0as 5.) 6aZ+23a+7=0 6.) 15x%-19x—10=0
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7.) 9n?+12n-5=0 14x2 -19x-13=0 9.) 9x2+18x +8=0

7x2=15x-2 11.) 0=4x? + 4x-15 @ 20x2=6x+2
13-’ 15 +X‘2X2 =0 '2y2‘6y+20=0 15.) 30X2—X—20=0
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\° ' 16) 33w+ 15=60 17.) 3x*—4x+1=0 6x2 +4x - 10=0
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5 %roéﬁﬁ?g;té(x*'?ﬂ);) 5x%-25x-10=0 21.) 35’:::-;&?_—-:‘835
| (Y 35x3-34x* +8x =0

N %(35x%-34%x+3) =0

-3\ y [(B5%*-20%)-(H X el =0
@ XL5x% (1x—=4)=2(7x-42=0

The length of a rectangle is 8ft more than the width. The area is 20ft?. What is the width and the length

he rectangle? X (-—, X~ L)LXBX ...2) = O
- p— - _Z._

= 2e)-4 = |4 Wm\wﬁ

23.) The length of a picture is four less than tRree times the Width. If the areats 84 cm?, what is the length

and width of the picture? ~251 _ ?__ ‘\(\ L} -—8"})
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